EEABFTF6E R (6-3) k3%
AR /F R s Rty |mFE
P E B 2 KEPFF 40474
VS Sy - i & B (-)
ik
sI-2 P * 5 end & 0 LiEM ot @2 F AR5 2 IR AL
TR ANER T AT g B-E-A2 B & Sk chB R TR
N RS NP RO
. o P FAFEFRY > REF L
33 Lual-cl PR A T
2 CYRERIERCE- PR
I B-E-A3 e sdp ¥ 4 FR A
EE T R A Ry
B et d o AfRARAEZ S 0 A
. | F L
Y S6-3F% % ~F% Lo f;ﬂ;aﬁ | | @Bl FELER R L
£ LI IENEO E T AP A PE TN o 2 | EBlERpVETEERTZEE
e FromE T @ pE (1R 4 -360: "f W ELZ B D 4o T R
(2) R E T A¥E(3) 2 afH F| 4 |[FEPFRTLAEE2WET L
5 A Rt RAR ALY (1) Kk g | B [ FPVERY OBPAM S Ta
v | Ao BELE T 5N o
i OClsFFBe > Ly
¥ Ho-B-Cl & % KRR E N 112
feis A F EIR RN DR o
@C2 ~ %M BG4 IF
B-E-C2 #tdr s A L IFfRAR AL
FEED B AfRARE o
@ HERT
LESTE e R ARTE L BE L] o
@itk
e E3 i & oy A ER T o
@ BRI KT
FErER | JEEI2 & % AR 40 k-2 4 o
a .’iéﬂﬁ?
FER
s % |7 2 it &G R oo

HLf#3
TfRE e RO RER LR
.%%% % &)

REEL suad- 2 F s

6'%-@1%??1’1’Uig”ﬁyfiéﬁfr’—\uﬂr)@ # chz ﬁ"

BEISAERR LB BT 2 k844 32 & o

@R H




REL W e REw AW @ pehe CET -
RE4 7 2R~ b b o
B E6 % #pirR & fo T nfF FF o

B/PER | B RAREMT A P RF

S

=
<+
o
h
ks

KEBRHFK

KEERPNFEF SN

e
Il
A
)

(8 4]: 48 & WA5(-)

O3t 541 & & £ & B9 i #

@FH- - iEE 10 2®I R - LRs Y Eod
E%Zﬂgb/r’ﬁvm#lﬁmﬁ%‘\ ]q,\% D A4 f)

| 4m

| 4m

o IR AN~ H A o Al

360°—90° =270°
270+360=-2290 -3

360 T 4
5
m>< mxs.mxfx

|
=235 5+ [HI S

B 452355 AR

@Fii- v - L 0N B I k- LRy Bk
Zﬂsb,rﬁvmﬁéﬁﬂmﬁa_‘ﬁ BT a9

-

A

|Om
20m

8m




5 5
TOX TO.X3.14X—-=235.5
2
10—-8=2
2X2X3.14X—5-=3.14
235.5+3.14=238.64
% 18 238.64 FHAR
@7z I T E A SE GBI D9

T
(BT : %)

o IR AT~ H A o Al

1 , 1 ,
T]}ﬂrﬁ,r‘ 575 jf%’}é\"if ] 5256 ﬁ‘ ) j]‘k,{/ié' IR L e ﬁ‘ 0

20+ 10=30

|5 |5

30X 30.X3.14X5-=7065
kY

5 |
20X20X3. 14X 5= =314

706.5—314=392.5
% %3925 F A

@iz I TR o fI AR FRHLE T 209

(Efi: A%)

DRSE ARSI I SRR

1
#“7@1%5&%@\.#@“?];’: $RMA WA - BD A, ’T}bg‘ﬁg YN

10+10=20

20x20=400

g 0400 T 24
L B

T o AR 0 K IMA G S QAR

(Fe & *t i P18)

(Fe &% P18)

@523t
@ 5%
@ikHT

@i
TR

10 @5 it4&m
[ el S




SEE SIS N AN

10x10=100

| | _
\ék><4><3.|4><§|><2—25.l2

100—25.12=74.88
& 87488 FITAR
4x4x3. 14=50. 24
4+2=2

2x2x3. 14=12. 56

50. 24—12. 56=37. 68
g 1% 37.68 L3 2

i

ol
R}
=
=
o
+
|
=
e
%
\
| =
A
H
s
Y
=




